
 

Number Correct Answer Value Your Score 

1 0.7796 3 (no partial)  

2 30.00 3 (no partial)  

3 5.00E-1 3 (no partial)  

4 1.0 3 (no partial)  

5 3.471E22 3 (no partial)  

6 0.915 3 (no partial)  

7 9.15E-11 3 (no partial)  

8 3.300E10 3 (no partial)  

9 1E10 3 (no partial)  

10 0.106 3 (-1 rounding, -1 SF)  

11 6.31E-5 3 (-1 rounding, -1 SF)  

12 3.10E3 3 (-1 rounding, -1 SF)  

13 293 3 (-1 rounding, -1 SF)  

14 0.247 3 (-1 rounding, -1 SF)  

15 42.3 5 (-1 rounding, -2 SF )  

16 0.236 5 (-1 rounding, -2 SF )  

17 60.87 5 (-1 rounding, -2 SF )  

18 72.91 4 (-1 rounding, -2 SF )  

19 5.1 5 (-1 rounding, -2 SF )  

20 14 g/ml 4 (-1 rounding, -2 SF )  
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